Warm Up 3/8/19

1. Solve using substitution: l 3
Ix+y=13 ( L]l )

5(4)"'5:]5 5x - 20)= 18
[z 4y =13 5
Y=| Bx-2(2%xtPD)=I

3. Are the following parallel, perpendicular

Line A: 8x-4y =7 Line B: 8y-4xX=24
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Steps to Solve

1. Make sure the equations are lined up!

2. ADD or SUBTRACT  the
equations to eliminate the variable with
common _\Vavriad€ .

3._Solve, for the remaining variable.
4. Plug 1N your answer into either

originaT) equation and SoWE_  for the

other variable.
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Multiply one or both equations by
some number to create opposite or
identical terms






A 9x+3y=12

-1, 7) 3= 2E0E9=3

ax (Z -é:}j —I-g

T —oY=-1S T A=7
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